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HRSH 1 mbar = 100 Pa = 0,1 kPa~ 10 mm WS 1Pa = 0,01 mbar ~0,1 mm WS
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[Ag-G3-MS9-V0] [mbar] Ap [mbar]
GW..A6 GW 3A6 228 723 07- 3 < 07
Ak GW 10 A6 228 724 2 - 10 < 1
GW 50 A6 228 725 5 - 50 < 25
GW 150 A6 228 726 5 -150 ld] <5
GW 500 A6 228 727 100 - 500 <15
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GW...A6 GW 3 A6 231 111 0,7- 3 < 07
FEmezs GW 10 A6 231 112 2 - 10 < 1
GW 50 A6 231113 5 - 50 1|:|:| < 25
GW 150 A6 231114 5 -150 < 5
GW 500 A6 231 115 100 -500 <15
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GWA6 /) GW 3/ 3A6 229 235 0,7- 3 < 07 = 07
GW A6 Ex GW 3/ 10A6 229 236 07- 3 2- 10 < 07 < 1
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GW 10/ 150 A6 229 239 2 - 10 5-150 <1 <5
GW 50/ 50 A6 229 240 5 - 50 < 25 < 25
GW 50/ 150 A6 229 241 5 - 50 5-150 < 25 < 5
GW 150/ 150 A6 229 242 5 -150 <5 <5
GW 500/ 500 A6 229 243 100 -500 <15 < 15
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